. 6 to spend on $3 Burgers (let x = an Fries (lety = #).
M10 - 7.0 - Form Notes [s don %3 ( #) and 52 Fries (| 0]
Graph: 3x+2y =6 Intercept Method : y—int: x—int:
Y Ax+By=C [or=0l| [ Table 3x+2y =6 3x+2y=6
‘ A e 3(0)+2y =6 |Putzero |3x+2(0)=6
&7 INO,3 0 Values 2y =6 |inforx/y 3x =6
I vy} int 0 (Tov) 2_}’ _ 9 Solve 3_x _ E
| \ 2 2 3 3
g @ Substitution @ 1 @
E 03D y—int x — int 01D
> X )
Y2 =01 ; Horizontal
lope : |m = - Point #1
R Slope X, —x, | Slope Equation GLyy) le> m =#(3
4,-3 y=
@m — (0) = (=3) substitute Points ¢ . ) Vertical
(2) — (4) With (Brackets) Point #2 -
(4_ — -r'lse -3 (x2’ yz) m = und
) m = Slope =—— = — ] (2,0) x=4#
vV run +2
Given a point and the slope: (4,—-3) m=—- We don’t go to slope point!
(x Slope Point Form: & to Slope Intercept Form
Slope Intercept Form:
Slope Intercept Form Ly—v = mgx =) Slope Point Form
= (=Dx+b y—y1=—50—x) Substitute m .
y=( Z)X Substitute m @ 2 3 Point #1
3 y=(=3)=—5x—-#) i (4,-3)
-3N=(—-=]@)+b 2 Substitute xand y| ;™
=3) ( 2>( ) Substitute x and y Cr1, 1)
—-3=-6+D Subtract 6 to Both Sides @ Slope Point Form
+6 6 Mirror
Solve for b 3
olve for y+3= o+ 6 Distribute
y=mx+b Slope Intercept Form -3 -3 Subtract 3 from Both Sides
Substitute mand b Solve for y
@ < They are equal —> Slope Intercept Form
Standard to Slope Intercept Form : @ Slope Intercept to Standard Form: [, ticient
3x+2y =6 :—§x+3 Order:.x,y,#or=0
—3x , - 33" . Subtract 3x from Both Sides 23 No Fractions
=—-3x+
zyy 3x <y =—sx+ 3) X 2 Multiply Both Sides by 2 (LCD*)
Z —_Z"4_ Divide Both Sides by 2 2
’ 2 Zy=—3xr+b Add 3x to Both Sid
Slope Intercept Form X to Both sides
—= , Standard Form Equations
y = mx + b<— y — intercept: (0,b) Subtract 6 from Both Sides
rise

D

m = Slope =——

Function Notation f(2) =?,f(x) = -3,x =?.

3
flx) = —gx+ 3
f@2)=-2@+3

3
x|y f(x)=_§x+
3
2 3=__
@(@3 3= 2x+

Find Equation (3 Forms
1) Find y —int/Point
2) Find Slope

Graph Steps
1) Table of Values (TOV)

@

3 || 2) Intercept Method 3) Substitute*
3) Graph Point/Rise Run Slope 4) Algebra*
3
Parallel 3\ Perpendicular /. _ 2 8
m= —— . . m=—
Same Slope 2/ Negative Flip 3
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m, : parallel

M10 --7.0 - Parallel/Perpendicular Notes m, : perpendicular
P.araIIeI_ Lines: lines which never cross. Perpendicular Lines: two lines which have Negative
Lines with the Same Slope. m = m Reciprocal slopes and meet at 90°. m = —%

2 y=—cx+2 =25 —3 1
2 . y i

T m
1

2

Same | /{ Negative
S | O pe Perpendicular Lines F I i p

Notice: the graph of y = 2x — 2 and meet at a 90 degree.
y = 2x + 1 are parallel because they
have the same slope and never Notice: The slope of the one line is the
Intersect. negative reciprocal of the slope of the other.
Multiply it by —1 and flip it.
Find Equation Paralleltoy = 2x + 1, Find Equation Perpendiculartoy = %x +1,
or (2x —y = —1) through (1,0). through y-int = —4, (0, —4).

m = 2,point (1,0).

2
m= —I,pt (1,0).

Find "p" if the liryallel/perpendicular. Flip one and multiply it by —1

m=§,m=2 m=g,m=—% ng,m=2 m=p,m=7
P=2 8_-1 §=—% _gz_%
5x§=2x5 2>{6;3=—21><p 5xg=—%><5 —8x—§=—%x—8
—_12—_219 p=—;

@

Algebra

10 Cross Multiply
52
s _ iV
2

| L1
X

o |
ul] =
()

\

=
I

=] U

N Ul
Il
N Ul
X
ul] =
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M10 - 7.0 - Given Slope Solve for x/y Notes

(x,y1)  (X2,52) ; Make variable| (x;,y,) (2, V)
point #2.
@4 & (Ln), m=q (-4-2) D -l
m = Y2 — W1 N lr\un =‘ Y2 n 2
X2 — X1 (24) m_xz_xl
3 -® o | 1_M-(=2)
(@ ! 2" @®-(4
4 W
3="" 2 13
n_—14 B ( ) 2 x+4
—1x3=—— x+4)X1=3X%X2
,—/1)(((1/ ® S g
s (11 T4 4 @D
v G=D
< >
— run = 2
Il
(1 y1)  (x2,72) 5 (—4,—-2)
(-2,-8) (x,2) 4
Y2 =0
m=
Xy — Xq
5 2-(-98)
4 x—(-2) Find Equation
5 10 2 points
2 x+2 Point & Slope
(x+2)5=10(4) Equation Information
5x +10 =40 Change Formstoy = mx + b
—-10 -10 Parallel/Perpendicular Info
5x 30
5 5
=5
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M10 - 7.0 - Midpoint/Distance Notes

! !
let M = midpoint let a = horizontal distance Average the x's and y's

let d = distance let b = vertical distance M= (x1 +x y1 t+ }’2)
2 ' 2
(=35) (5-1) M= <(—3) +(G5) 5)+ (—1)>
2 ’ 2
a=x,—x
(x1,y1)  a=(5)—-(-3)
(=3,5) *
Y
b s =G k)T Gy
b=—6 d=((5) - (=3)%+ ((-1) - (5))?
L=V O
P /L NG =64+ 36
4 3 2 \t—/l 2 3\\‘(362,}12) d =100 6
2l (5,-1) 10
T a? + b? = c? a? + b? = ¢?
T ¢ =+/a? + b2 6% + 8% = 107

- i82 — 100 = 100

Gra Lin Page 4



